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The foundation of this indicator is based on three factors and uses the d line of the stochastic 

D1: stochastic value that is lower/higher than previous candle by x amount
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D2 the following stochastic value that is lower higher than the previous candle by x amount
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GAP  the candles between these stochastic val
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D1 INPUTS
Minimum stochastic candle amount D1 
For a sell  this counts the minimum amount of stochastic required that are higher in value than their previous candle  from the low of D1 to its high

For a buy  this counts the minimum amount of stochastic required that are lower in value than their previous candle from the high of D1 to its low

Maximum stochastic amount D1
For a sell this counts the maximum amount of candles that can occur from the low of D1 to its high
For a buy this counts the maximum amount of candles that can occur from the high of D1 to its low

Minimum candle value for D1 
For a sell this counts the minimum amount of candles required to close above the low of D1 until its high
For a buy this counts the minimum amount candles required to close below  the high of D1 until its low

Maximum candle value for D1 
For a sell this counts the maximum amount of candles that can close above the low of D1 until its high
For a buythis counts the maximum amount candles that can close below  the high of D1 until its low
 


D2 INPUTS

Minimum stochastic amount D2
For a sell this counts the minimum amount of stochastic required that are higher in value than their previous candle  from the low of D2 to its high
 
For a buy this counts the minimum amount of stochastic required that are lower in value than their previous candle from the high of D2 to its low

Maximum stochastic amount D2
For a sell this counts the maximum amount of candles that can occur from the low of D2 to its high
For a buy this counts the maximum amount of candles that can occur from the high of D2 to its low

D2 Percentage of pips in relation to D1 
For a sell 
this counts the amount of pips from D1 low to D1 high and creates a percentage (100%) 
D2 low to D2 high must be equal to or greater than the inputted percentage of this range in D1
For a buy
this counts the amount of pips from D1 high to D1 low and creates a percentage (100%)
D2 high to D2 low must be equal to or greater than the inputted percentage of this range in D1













GAP INPUTS

Minimum gap between D1 and D2
For a sell this counts the minimum amount of candles required below the high of d1 until the low of d2
For a buy this counts the minimum amount of candles required above the low of d1 until the high of d2

minimum D gap  
For a sell  this counts the minimum amount of candles required  from the high of d1 to the beginning of D2 (once all requirements are met for D2 to have a signal )

For a buy this counts the minimum amount of candles required from the low of d1 to the beginning of D2 (once all requirements are met for D2 to have a signal )

maximum D gap 

For a sell  this counts the maximum amount of candles this range can have  from the high of d1 to the beginning of D2 (once all requirements are met for D2 to have a signal )

For a buy this counts the maximum amount of candles this range can have from the low of D1 to the beginning of D2 (once all requirements are met for D2 to have a signal )

ADDITIONAL INFO


The arrow/ signal is placed once the minimum requirements for D2 are achieved

We use the blue d line of the stochastic for all D1 and D2 measurements
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PINBAR S/R ENTRY

Basic rules

A  sell signal forms when the high of a wick is reached
A buy signal forms when the low of a wick is reached


Pinbar percentage 
This counts the pips of the candle body that the wick is on and creates a percentage (100%)
The pips of the wick must be equal to or greater than the percentage inputted which is based on the candlebody

Minimum candle disance
the S/R wick must be at least this far away from the signal candle 

Maximum candle distance
the S/R wick can be at most this far away from the signal candle

Timeframe (from m1 to H12)
This sets the base timeframe that the rules apply to
If the timeframe is changed it will still only adhere to the base timeframe
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